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Q1: Represent   and −  on the number line.  

Q2: Write any three rational numbers between −  and − . 

Q3: Write any three rational numbers between −2 𝑎𝑛𝑑 − 1.  

Q4: What should be subtracted from 
−3

4
 so as to get 

5

9
 ? 

Q5: Diveide the sum  
−14

15
 and 

7

9
 by the product of 

−6

11
 and 

5

12
 

Q6: Simplify:  
3

2
− 

4

5 
 + (

−11

15
) ) + (

−13

10 
 ). 

Q7: Verify. 
−15

4
 × (−

3 

7
+  

−12

5
 )= (

−15

4
 × 

3 

7
) + ( 

−15

4
 × 

−12 

5
) 

Q8: The Sum of two rational numbers is 
−3

5
. If one of the number is 

−9

20
 , find     

the other number.   

Q9: The product of two rational numbers is 
−11

15
. If one of them 3, find the other 

number. 

 Q10: Arrange the rational numbers 
−7

10
 , 

5

−8 
, 

2

−3 
 in the ascending order. 


